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(2)-5

m 5 42,175 210, 875
TR B AT $ 200 (VP) w—faig 274N &
(2)-6

m 8 42,175 337, 400
EHZE W ¢ 200 (VP)
(4)

& 270 499. 134,919
SIS E AT ¢ 150 (FA-V) B
3)-1

m 225 4,724 1, 062, 900
TR B A ¢ 150 (FA-V) s
3)-2

m 30 12, 362 370, 860
EHZE WEE ¢ 150 (FA-V)
(5)

& 144 373. 53, 798
B E AR ¢ 100 (SUDII-V) [E%&
-1

m 0 3, 884 0
EIE B AR ¢ 100(SUDII-V) Hh4&
4)-2

m 0 8, 037 0
EHZR WEEE ¢ 100 (SUDIT-V)
(6)

& 0 306 0
TR B AT 6 75(PV) 4
(5)-1

m 23 3,653 84, 019
EAE B AR 6 75(PV) i
(5)-2

m 17 6, 406 108, 902
EHZE HEE ¢ 75(PV)
(7)

& 45 209. 9,414
TR B AT $50(PV) 4
6)-1

m 13 2,995 38,935
EAE B AR 6 50(PV) A
(6)-2

m 9 4, 603 41, 427

Ao BE A5 2 i =




NN /2

il

*

TRy - T - AR - A5 MO LFEAL B G EHAMm # E (&R

EHZE HEE ¢ 50(PV)
(8)

& 34 202. 6, 895
Bk DRy 7 ¢ 150 (FA-V)

& 0 676. 0
HERFRIRY-b W=300
(1)

m 440 301. 132, 836
HERFRIRY-b W=400
(2)

m 104 382. 39, 738
HERFRIRY-b W=600
(3)

m 4 602. 2, 408
%537 L500 X W957 X t16
(1)

e 0 18,218 0
%537 L500 X W1307 X t16
(2)

e 0 23, 929 0
Bty )=} WE D

m 0 23, 289 0

7 VERANE 9 )AL (RERRED)

= 1 9,201, 610

T 0 B ReRE (UFRY) 900X 1100 X 1800 Hh |- H#3%E |-
B

D-31

T 0 995, 003 0
JB(E IRk ES (U5 1200 X 1150 X 2200
D-32

T 0 1, 160, 380 0
JB(E IR RRES (U5 1200 X 1150 X 2200
D-33

T 0 1, 164, 035 0
1 BURpRES (URY) 1200 X 1350 X 5000 i1 |-k

B

D-34

T 0 2, 269, 595 0
E1E T B REREL (BOXTRY) 900X 1500 X 2200
D-35

T 0 802, 946 0

Ao BE A5 2 i =




NN /2

il

*

TRy - T - AR - A5 MO LFEAL B G EHAMm # E (&R

BERR R RS
D-36

T 0 291, 191 0
B Bt 500 X 1050 X 2000
D-1

T 1 707, 649 707, 649
TR R 900X 500X 2200 Hb_[-H e 14
D-2

T 1 780, 196 780, 196
TR R 900X 500X 2200 Hb_[-H e 14
D-3

T 1 775, 810 775, 810
BERR R RS

T 1 280, 775 280, 775
T ZUAS2RES (BOXZL) 1200 X 1800 X 3500
D-4

T 1 1, 442, 709 1,442,709
T ZUASRES (BOXZL) 1200 X 1800 X 3500
D-5

T 1 1,437, 227 1,437, 227
TR g 900X 500 X 3600 Hb_[-H e 24
D-6

T 1 1,296,519 1,296,519
T ZUAS2RES (BOXZL) 1200 X 1800 X 3800
D-7

T 1 1,721,383 1,721, 383
7 Gyt 450 X 500 X 900
(1)

T 0 241, 487 0
7 Gyt 450 X 500 X 900
(2)

T 0 250, 715 0
7 Gyt 450 X 500 X 900
(3)

T 3 250, 623 751, 869
A S e

= 1 7,473

HZET
= 1 2,075,972

Ao BE A5 2 i =




NAWA

il

*

TRy - T - AR - A5 MO LFEAL B G EHAMm #H T2 (BB
H % fE 10T HEEb
= 1 479, 495
N & A7 9v47/RC-40 A F Y JE250mm
(1)
m2 41 2,473 101, 393
- FERL R A RM-40 {E EY E
150mm
m2 41 1,344 55, 104
N g AT 9v47/RC-40 AV JE150mm
(2)
m2 41 1,275 52, 275
HJE MR EET AT 7 MRS (20) &
4E = 50mm
m2 41 3, 448 141, 368
#FJE LR RL T AT VMRS (20) &
2E = 50mm
m2 41 3,155 129, 355
IR T A8
= 1 777, 860
I e S FE79v47/RC-40 11 F V) JE50mm
m2 190 1,122 213, 180
#FJE FEMURLEET AT 7 MRS (20) &
2E = 40mm
m2 190 2,972 564, 680
AR T e AH (1)
(4m<W=8m)
= 1 110, 511
N & A 79v47/RC-40 4 E Y JE50mm
m2 27 1,122 30, 294
#FJE MU EET AT 7 MRS (20) &
2E = 40mm
m2 27 2,971 80, 217
IRAEIRT. T AH(2)
(Bm< W)
= 1 51,147
& A T9v47/RC-40 AV JE250mm
m2 9 2,473 22, 257

Ao BE A5 2 i =




NAWA

il

*

THEXSy « T - FER - 5 MO LFEAL B G EHAMm & H T2 (BB
#FJE MU EET AT 7 MRS (20) H
4E = 50mm
m2 9 3,210 28, 890
IR T 3B
= 1 71, 520
- FERL R A RM-40 {E EY E
200mm
m2 12 2, 489 29, 868
FJE LR RL T AT 7V NE S (20) H
4E = 50mm
m2 12 3,471 41, 652
A8 IR T, HIER
= 1 585, 439
| RIS 22 BB (40) fEY
JZ100mm
m2 41 4, 858 199, 178
HJE MR EET AT 7 MRS (20) &
4E = 50mm
m2 41 3,133 128, 453
T FEMURLEET AT 7V MRS (20) &
2E = 50mm
m2 41 3,133 128, 453
#FJE LR RL T AT 7V MRS (20) H
2E = 50mm
m2 41 3,155 129, 355
Al T
[ERFAHLX ]
= 1 13, 838, 545
A4 IR #IES  ERFAR
= 1 620, 069
N & A 79v47/RC-40 A F Y JE250mm
(1)
m2 61 434.3 26, 492
- FERL R A RM-40 {E BV E
150mm
m2 63 333.6 21,016
& A 79v47/RC-40 AV JE150mm
(2)
m2 88 260. 2 22, 897

Ao BE A5 2 i =




NAWA

il

*

TRy - T - AR - A5 MO LFEAL B G EHAMm & H T2 (BB
HJE MU EET AT 7 MRS (20) H
4E = 50mm
m2 193 1,475 284, 675
#FJE FLEERL T AT 7V MRS (20) H
4E = 50mm
m2 193 1,373 264, 989
G IR T A8
FE AR
= 1 18, 754
I e s FE)79v47/RC-40 11 F V) JE50mm
m2 15 86. 3 1,294
FJE MR EET AT 7 MRS (20) &
4E = 40mm
m2 15 1,164 17, 460
AR T e AH (1)
(Um<W=8m) [EFFALL
= 1 1,314
I e S FE)79v47/RC-40 11 F V) JE50mm
m2 1 86.3 86
#FJE FEMURLEET AT 7V MRS (20) &
2E = 40mm
m2 1 1,228 1,228
RAEIRT. ] AHE(2)
Bm<W)  EHFAYS
= 1 1, 940
I & A T9v47/RC-40 A F Y JE250mm
m2 1 434.3 434
#FJE FEMURLEET AT 7 MRS (20) &
2E = 50mm
m2 1 1,506 1,506
G4 =4 T
= 1 13, 196, 468
GIiIA-n" =14 TemPA N —JE B2V D1 50
mm PR SR T A3 (20)
m2 4,070 2,920 11, 884, 400
AR (B i B i G|
m3 212 3,016 639, 392

Ao BE A5 2 i =




HOfl =%

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| TZ (BB
ALy % i G|
m3 212 3,173 672, 676
Bkt 1
= 1 8, 409, 125
Ll
= 1 1,722,675
LA AR E M
(1)
m 93 13, 842 1, 287, 306
LA FAIHRRE G
(2)
m 25 13,193 329, 825
LA FFARRE #2Y HT 5
(3)
m 7 13,193 92, 351
LA FRIHRRE S
(4)
m 1 13,193 13,193
= 1 5,792, 597
(=315 HE ¢ 300
m 127 45, 611 5,792, 597
Akt vvi-y T
= 1 893, 853
ATt TR AR E LS
T 9 99, 317 893, 853
Bkt 1
[ERFAHX ]
= 1 28, 875, 652
Pk 1
= 1 18, 060, 201
BB
= 1 18, 060, 201

(] - xzid BE A T i




NAWA

il

*

THEXSy « T - FER - 5 MO LFEAL B G EHAMm #H T2 (BB
E¥ELT
FE AR
= 1 1,088, 276
B s Ao ALE 140m3
= 1 22, 750
FHIA (=27) +Hb - E50, 000m3 AT 140m3
[/ER]
= 1 33, 586
R (SR IS~ 5585 140m3
[/ER]
= 1 511, 980
Vs ey Uy 140m3
[/ER]
= 1 519, 960
7 VR AN = T
FE AR
= 1 490, 266
7 VERANE 9)A PAfE 0.4m P& 0.4m
m 14 35,019 490, 266
18T
FE AR
= 1 7,821, 612
B () IR FEWHRITE 300X 300
(1)
m 112 27, 002 3,024, 224
B () IR FEWHRITE 400 X 400
(2)
m 84 33, 688 2,829, 792
B () IR 300X 400
(3)
m 1 46, 075 46,075
B () IR 300X 500
(4)
m 6 39,901 239, 406
() IR 300X 600
(5)
m 8 41, 444 331, 552
B () I 300X 700
(6)
m 7 45, 593 319, 151

Ao BE A5 2 i =




NN /2

il

*

TRy - T - AR - A5 MO LFEAL B G EHAMm # E (&R
B () IR 300 X 800
(7)
m 8 48, 632 389, 056
B () IR 300 X 900
(8)
m 5 51, 767 258, 835
AN =bas)) =} JEEER a7 =h
m3 1 28, 942 28, 942
R VA 7 A 7
e 21 11,576 243, 096
LA & BFE (180/205 X 250 X 600)
—
m 9 12, 387 111, 483
A
= 1 7,920
KRR VP ¢ 300
m 0. 8, 801 7,920
KM/ k- L
A
= 1 1,407, 377
7" VoA MET IR 700 X 700 X 700
(1)
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(2)
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(3)
T 7 81, 105 567, 735
7" VA MET SR HEWTRITERME 300X 1000 400 [
Sl
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RHEBER T ny) 7wy (M) D
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TE AR T
= 1 45, 066
T AR T
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A RS A AR E
ZN 87 518 45, 066
B st L
= 1 424, 170
[ A T
= 1 424, 170
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X TR 1
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2)
m 132 1,083 142, 956
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(4)
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Pk T
= 1 1,127, 780
LAUARE FAAME s
(1)
m 93 4,564 424, 452
LAUARE FAAME 'L
(2)
m 25 4,564 114, 100
LAUARE FR AR #0 0E
(3)
m 7 4,564 31, 948
LAV ARE FAAME P
(4)
m 1 4,564 4, 564
HIRME A5y ¢ 300
m 127 3, 842 487, 934
HFIEMHR S R RS LB
T 9 7, 198 64, 782
fAaE LT
= 1 106, 213
RHGEBER T wy sk HAAHE 7747 0y
(1)
m 9 2, 392 21,528
HRHEBERT wy i FRAME
(2)
m 8 2,074 16, 592
HRHEBERT ny i FHAAME 9T
(3)
m 3 2,074 6, 222
HHEBERT wy i FRAME s
(4)
m 6 2,113 12, 678
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TS ny 2 A AR
m 22 2,140 47, 080
T AN S
= 1 40, 794
AR E A RS
ZN 87 468. 9 40, 794
TEHR LB T
= 1 247,726
PSRl a7 -hidk (IEF5)  ARBRA
(1)
m3 41 2, 307 94, 587
PSRl a7 -hig (E55) AN J1RA
(2)
m3 0. 18,474 3, 694
LGy av)Y)=higk (IE57)
m3 41 3, 645 149, 445
HEEE L
[ERFAHX ]
= 1 61, 584
TEHR LB T
= 1 61, 584
ALy av))=hik (IE57)
m3 16 3,849 61, 584
G an
= 1 14, 690, 511
1 F - B T
=y 0 0
RS RAR (FERRIE [T
=X 0 0
RME T
= 1 14, 690, 511
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A B A
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2 1 3, 449, 061
SR B R
@
2 1 11, 241, 450
R
2 1 99, 720, 410
SR
= 1 14, 348, 190
St (R
=« 1 2, 810, 940
R
2 1 186, 386
O 2 "
2 1 186, 386
s
= 0 0
Bl
2 1 333,312
R LR
2 1 147, 057
R LR
@
2 1 139, 886
W R AT AR
® 1 46, 369
BUSBREEGER (Rt L)
2 1 2,291, 242
SR s (RR L)
2 1 11, 537, 250
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s
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T AT
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—
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THEBLFH Y %H
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TH#EG
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